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Section 4.7: The Natural Logarithmic Function: Integration
Practice HW from Larson Textbook (not to hand in)

p. 285 # 1-25 odd, 35-39 odd
Recall the following integral formula:
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We illustrate this formula in the following examples
Example 1: Integrate 
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Example 2: Integrate 
[image: image3.wmf]ò

dx

x

 

4

2


Solution:













█

Fact: Many functions integrated by substitution result in a natural logarithm integral. We illustrate with following examples.

Example 3: Integrate 
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Example 4: Integrate 
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Example 5: Integrate 
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Example 6: Integrate 
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Solution: For this one, it is useful to realize that the derivative of the denominator, 
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, which is the numerator. Therefore, we use u-du substitution with the following steps:
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Fact: If the degree of the numerator is greater than or equal to the degree of the denominator, then you must use long division to rewrite the function before integrating. 

Example 7: Integrate 
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Solution: 
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Integration of the Trigonometric Functions

Example 8: Integrate 
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Solution: We perform the following steps in the integration process:
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Example 9: Integrate 
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Solution: We perform the following steps in the integration process:
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Integration of the Trigonometric Functions Formulas
1. 
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Example 10: Integrate 
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